Muzamil’s quiz
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81
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82
84

monNnw>

25x5-10+2(4x7)+4x6

A
B.
G
D.

69.2+004+2=7

A. 1730

B. 865

c. 346

D. 135.42
Two cars start
to each ©
After 15 Secon
A 400m
B. 150 m
C. 300 m
D. 250m

75
—85
58
135
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< from one point and move along two roads at right angles
ther. Their speeds are 36 km/hr and 48 km/hr respectively.
ds, the distance between them will be




i
Trains are moving |
n

gl

Opposi
e directions at the g2, M2x+ 107 16, what 15

Speed
hr. ThQOE S0 km/hr and 70 k value of 2% 107
ir 'e“B‘hs m/ A 4
1°°m. The % are 150m and g A
their co me required for :
A mplete crossing is G 3
8 6 Seconds 0, A
g 7.5 Seconds g, 6
6 895&0;“15 g3, What is 2 rounded o
. 25 AENS the neare ¥ ndredlh?
A Trai ’ A a6
3 rain travelling at 60 km/hr a5.8
|eaves Multan for Lahore 3t 459

7 a.m. Another Train leaves p. 4586

and travels at 28km/br if
the distance from Lahore 10 When -5 5 subuacxed {ro
Multan 15 km, how far +10, the resultis ¢
from It will the two A %5
trains cr° nother? g, ¥
A 135 c -155
g, 140 km ‘é- s
C 145 kM =
150 kM
g5. The square root of 61504 i5
(e s @0 intege’ nosen exactly
o il e set & 7 A 25
= 1) and »o i chosen 2 B. 246
ot dom fr0 the set i 6,19 c
ran ) what he probab\\\w D. 248
14,3%0 1 2 232 £ 209
maln"zp
0. :
A o1 86. What s 75% of 162
BC- 0l A 28
" 06 B. 24
¥ C 1
D. 2
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2. A pipe @an fill a tank in 15
hours. The tank develaps 2
hole and 10% of water leaks
out. The pipe now fills the
tank in
A. 16 hours 40 mins
g, 18 hours 40 mins
c. 20hours
p. 17 hours 30 mins

Aclerkwalks from his house at
4 km/hr and reaches his office
5 minutes late. If his speed is
5 km/hour, he will reach his
office 10 minutes garly. How
far is his office from home?

2 = M.B

4.5 km
7ahid started his business by
investing Rs. 60000 After 4
months, Kamal joined him
with an investment of RS
40000, If they make 3 profit
of Rs. 5200 at the end of the
year, Kamal's share should be

Rs. 1200

Rs. 1450

Rs. 1560

Rs. 1600

B.
c. 55km
D. 6km

‘_\n Alloy  contain
and 2inc in the ratio oRe
another mmam(_' 1-. ¢ ang)
finin the ratio 2 nt

antd

J s
/ At < WD
parts of 1" alloy and ane o ant

of second allay are melied
together to form a new ;.s'.r,(
of copper, zinc and tin, the
ratio of the metals will be .
A, 10:5:6
B, 10:7:4

D. 22:7

Rauf went t@ puy 2 liters of
milk. The mitkman measured
milk with 3 vessel wihich wits
20cm |ong 15cm proad #°
5em deep. Thus he 82t
cc milk more
560 CC milk 255
c00 CC milk mare
6_ 500 o milk ess
_rargle ®
if tength of aﬂ [::,,da" e

wol
. thE



www.hektips.com


Which of the following i
£ could 54, |fKisthe only |
S ¥ larg

be the group of ornament Y

pleces displayed in shelf 1? Fl displayed |

A LM which of the follow:.

8 LKLO C l-u:lnn:'
" C M, N O A Exactly e ,
vird D. LMOP PIeCes are dispiaey
2 £ KLMN,O . bty

e No  more  (he
unth 52.  Which of the following is NOT :;rml:'“ Nt pietes  ga
" an acceptable arrangement c HPIFYed In shelf2

N : : . Shelf 1 and shelf
for displaying the omament ot 62 o
pleces? Shelf 1 Shelf 2 'm"':'“ Bacth
small orn S pan
. A J)LMNPKO Srbited
. “ I sm 0 —
e 3 B. LMKLNOP p,(“ FRAN S
= }EC2S are Splave
d for & . LMOKLNP £ Althe ;
25, The » Al three farge o At
2 : D. JLMPKLNO pieces are displayed ]
vailatis E. J,O,PKLMN S
nt
v | and Questions 55-60
d P T.he 53, If ) and M are the only Six different ladies Zakia, Do
following ornament pleces displayed Kamila, Bushra, Sania 0 2ohia
in shelf 1 and K Is one of the compete in 3 Ycooliny 1xE
ormame! ornament pleces displayed which the lady wath ke mes
d in in shelf 2, shelf 2 must also completed cooking asugnT L
{ lpast 7t contain said to finish the race first i L
ed 0 [y A, Land N and at least one lady with the fawest. complete
ather ornament piece cooking  assignments S
The :"
od ¥ 8. Oand P and at least one finish the race 1t 70
pIav= other ornament piece (adies are ranked BEWET )
o €. L NandObutnotP |ast according 0 V€
 the ges D. L NandPbutnotO completed CODNRe-=
heh E. L NOandP The following *=7
yed . all true about the
= cooking rac¢:
'3-" ¢ - ‘m_‘h(,d githes
e Tania HWns i o
m! ’ v\l‘f(‘J‘-'[‘ !

W yefore o \" ped U :
;"-‘4_. gyshra. SaM? o yhert ¥
.7'w"° did not fintsh 95

tes
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66.

67

65, w
hat is the speed of a 75m

on
8 train which passes a

150m |
an
sl e o

A,
8 60 km/hour
c 68 km/hour
5 76 km/hour
| km/huu[
S;;a:id engaged a labour for
ays on the condition that
Rs. BO per day will be given
for the days he works, and he
will be fined Rs. 10 per day
for the days he s absent. If
he receives Rs. 1770 after 30
days, the number of days he
was absent i
A 6 [ ’
B. 7 .
c. 8
D. 5
A number 1S increased by 20%
and then decreased bY 20 %
and el alue o the TOTEST
A o5 not change
B: gecrease Y B
C. increase bY
0. decreds® Y
i his
3 ends 2 o
o T
fn food an
income 2"
N(sthe patance 91 € "wa";e.'
0' pe 15 jeft with RS 540, s
|
me 15
e 0
e d
g RS 3500

70

71.

20% less than @ !
What percentdg® o
number forms 0

A, 60%
g, 70%
c. 75%
D /0%
in an examination, every
candidate took history or
Geography 0Of hoth. 64.8%
took History and 60.2%

took Geopraphy. \f the total
number of candidates are

2000, then the candidates
who took both are

A, 500

g. 590

c. 630

D. 660

The ratios of pure milk and
water in two vessels are 3:1
and 7 : 5 respectively. If equal
quantities of the mixtures
of two vessels are mixed
together, then the ratio of
pure milk and water in the
new vessel is

oney
hw N

wun N
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46.

47

48.

49.

The

be "::‘D:tv?n lava cakes must

Cream ¢ (;:i‘lch other if an (ce

'°"0wmd 15 in which of the
B positions?

A The first

B The third

C  The fifth

D.  Theseventh
E.  Theninth

If the second cake is a molten
lava cake and the third cake is
an ice cream cake, which of
the following can be a molten
lava cake?

A, The fourth

g, The sixth
c. The seyenth
p. The eighth
g The ninth
If no molten {ava cake s next
10 another mollgn lava cake,
any of (he following could be
jce cream cakes EXCEPT the
A. second
[ third
C. fifth
D seventh
E. eighth
i nd saventh

i meha::;n - same kind
c;;k.e:gledlems, which o!b |mi
following m a biac
forest cake?
A The first
8 The secal
C. The fourth

* rhesixth
g. The eigmh

50. If a molten lava cake s

in the

fifth position and a black forest
cake |5 in the ninth positien,
which af the following pairs
of cakes must have different
kinds of ingredients?

- The first and the second
8 Thf‘if‘caminr\dnw!hud
C. The and the

fourth

D the third and the fourth
€, The third and the fifth

second

Questions 51 -54
Two display counters, shelf 1
and shell 2, are to be used for a
display of ornament pieces, The
only ormament pieces avallable
are three large ones J, K and L and
four small ones M, N, O and P. The
display must mest the following
conditions:
At least six of the arnament
pieces must be Included in the
display. There must be at least 00¢
ornament piece displayed in exh
of the two caunters,
J and X cannot be displayed 0 #
shelf together
} and M, if included in the displ®
must be in a shelf together
neither can be included 1"
display alane.
L and N, If included in the dispH
must be In a shelf together: .
nelther can be induded al
display alone.

:
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Who among them Is talle,
than R but shorter than p?

AT

fits
ght

with
5.

who s
ewa"
eybd
| ;‘HG‘F

C May 2019

B Data inadequate

cC Q

D, U

26. Who among them plays

Basketball?

A )

B. U

cC Q

D. R

27. Which of the fallowing
statements is not true?
A.  Tistaller than R
B. Uis taller than Q
C Pisshorterthan R
D. Qistaller thanS

28. Who will be at the third
place if they are arranged
in descending order of thelr

height?

AT

' M.B
cC P ©

D. §

E. None of these

QUESTION No. 29.33
Stx sclentist A, B, C, D, £, & F want
1o demonstrate an integrated
perment  based  on  Inter
1Y approach, Their
are Chemistry, Zoology,
: r“hvsics, Geology and
Jathematics, 'but not necessarily
in this order. Each day only one

Scientist will perform the
Yiscipline The expe

: Bar of '
fiment
on Monday and end on ¢
One day which otherwise ,:‘
ol the experiment [)\a;";-"
be on the very nex day of

Wil St

Jan
Iy will
A, who is a Mathematic :', )'
he slated for pP!I'Urnw.,:: ;'..'..m
on the secaond day or the ‘;,-_- ,,I:,,
Howvvef, his day shouls 7' l‘
Immediately preceded by p‘,,‘
C will demonstrate on the thirg Jm‘n
Physics will be on the fifth day. £
who is a Zoologist performs on the
second day. 8 performs on Monday
and after F's performance will be
rest day. A

29.  On which day will the Chemist

perform?

A, Monday
B Friday

C  Sunday
D. Saturday

30. The experiment will start
with which of the followsng

disciplines?

A.  Zoology

8, Geology

C. Mathematcs
p. Chemistry

ot
,5;.: ress

31, Which day will be t

day?

A Tuesday

B, Thursday

c.  Saturday o
D Cﬂ"ﬂm be dgtnlnnr‘."



| married male

any U
32, :i.wsit‘s will be precededbv 36 ’;“‘:;:Im::,l_: ;l the same family?
B ghem\strv s One
= B‘;";Lc:‘gy B W placed ©
D. Geolo‘;y & TFhwe A FG
p. Four 5 )
33. Which of the following 15 the 17, Who's married to D? c. G
correct sequence of scn:mlsl's A A D. G,
performing g. B £ H
A. BEDCFA c E
B. BCEFDA o F a1, IES anc
C. AFDECB south
D. BECOFA 38, Who'is married Lo c? followy
A A the no
QUESTION No. 34 - 38 B. B A, F
A, B,C, D, EandFare member of 3 c. AorB B G
club. Thereare two matried couples D E C.
in the group. A is the brother of D's D. |
husband. C is the president St |/ Questions 39:48 ‘ £
Asia Working Women's Association. A gardener is planning an exhibit
£, a singer is bachelor. 8's wife s i":‘e'e:‘ p:"“‘" ti.\b?t ::' Lh RS “"“m‘; 42. IfSa
not the member of the club. Four | <oy ‘: cgr::r Ioir'oln“:ﬁeo:orl soutt
f them belon to the same family. ; folloy
5 ) & Y corner of the garden. gour plants f,
g and F are colleagues in the same | G, Hand ] are ever green and three :“ th
organization: R, S and U are seasonal plants. T 8
gardener will satisfy the followirng CA
34, Howis F related 10 B? requirements in setting ¥ thé 0
A, Brother exhibit: Each corner will pave £
g. Nephew mast two seasonal plants placed”
c. Father it. G cannot be in the same “"‘: 43. G
o, Datainadequate as U, H cannot be in ! o Sy
corner as R. foll
~hich of the following Broups 0P on
“onsist of members of the | 3% Which of the io\\ﬂwmﬁccu o A
of plants could i
came family? i A
@ north cormer C
ARSI A, FGHand D
g BCDE 8 FHsandY E.
c. ADEF c G H R
p. BOEF 5. G,),RandY e
£ ), a,s;;ndu 4019 y

C N




= _ .
™ collection of minutes: !
E1E was nothing left to give

A
5 Along with a
C' inafew
- Alteras
D. mall

Accompanied by a

Not all countries benefit fr

tendto firstto theadvanta
education to be able to benefit from th
equally_..generate
richly........downgrade
suitably......ascribe
uniformly.......percolate
iudiciouslv....‘...(acilimw

moN® >

23, Thetheoryofthe

highly developed techno
A. Isolation
B. Aesthetics
c. Convergence
D. Fragmentation
£ Longevity
QUESTION No. 24 - 28
cix friends P QR ST and U are member of 2 club and pl

of Football, Cricket, Tennis, gasketball, Ba

t v 1hant
{oet among them plays Volleyba
R plays volleyball. T is be

eights

24, What does S play?

fFootball

gither Cricket of gadminton
~ Cricket

D. padminton

B.

www.hektips.com

_ofcultures argu
logies will evolve simil

nd S plays Tennis. The tallest among them plays pasket
il Q and S neither

The benefits
i crahz;mon'
omdh::‘ o those with the right
<ed 7
. cunities oresemed.

e oppo

s thatall societies with
ar social jnstitutions.

dminton and Volleyball. T whe

tween Q who plays football

aya different gat\"
pat
oucyba"
play V ;

onN®P

26. Who
Bask

on® >

27. Whi
stat:

onNne >

28,

mMOoN®>TIVE
P & -
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Six scles
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in this
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FUTILITY

Dignity
Paucity
uUtlity
importance
Polse

monE»

12, GREGARIOUS
Affable
Hostile
Social
Amiable
Communal

monNnex

13. CRAVEN

Saintly
Courteous
Courageous
Cribbing
Chivalrous

mone»

14, IMPEDIMENT

A. Deterrent

B. Encumbrance
C. Obstacle

D. Benefit

E. Trammel

15. ABEYANCE

A. Suspended

8. Continuant

C. Doldrum

D. Dormant
Complete the sentences

M.B*

by

choosing the most appropriate
word, from the given lettered

choices (A to D/E) below each.

May 2019

16

for my shoes

19.

20.

| looked my bed
A Under

B ACross

C. 8Beneath

D. Underneath

£ Below

Her attitude s _
A, Humillatng
B. Ridiculous.
C. Insignificant
D. Indecisive

The feat with feeling
incompsatent 1S the fear
of being humiliated,
embarrassed and

A, endowed......criticized
8. afflicted. .. .downtradden
C. consistent....damaged
D. associated,....vulnerable
E. imbued.. ... exposed

It would be difficult for one so
to believe that all

men are equal irrespective of

caste, race and religion.

A, emotional

B. democratic

C. intolerant

D. liberal

fam______ toTmay White
for her grace and talent

A. Indebted

8. Honoured

C. Obliged

p. Grateful




or tt

e lettered pairs (A to DJE)

ollow a related pair of words given

n capitals. 5¢e

Joct the lettered pair

hat best expresses @ relationship

similar to that expressed in the
original pair in capitals.
5 S BLURRED:CONFUSED::
A. Muddled: uncleat
p, Dangerous: adequat®
(¢& scam: dlarity
. Abatement: significant
2 NOTABLE NOTORIUSE
A: PN Athroplc
penevolen
g, Philand plcasan\
¢, Heinou clous
D Nelarn et
£ phil niserly
vicales
.aothes
mears
i =v.1age:heals

TE AMAGANT: SHREW:!
Anteater mOousEe

noOm P

firapo

harpy

tor- nde

TOKEN: TURNSTILE::
Words: telegram

mo N W >

Coln:

telephone

Digsel: automobile
Road: toll

6.

B.  Wind:sleet
C. Snows plizzard
p. lce:fioe
4 word of phrase
Choose the jettere oosite n

that is most N€

WATER: FLOODX
A Rain: river

a

meaning 1© the

fettars.

g ANCILLARY

moN® P

10
A,

B.
C.
D,
E

Spare
primary
Honoraty
Negalive
Nominal

Genial
Briny
Cooked
Salty
Crisp

IMPEACH

Punish
Praise
Acquit
Disgrace
Chastise

word in capital
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